BRSESLKTARAONEED 2

BRSE/DRDONEED 1
3F #H E-K4

@ Jiz + |27 @ J45 - J20
=2./3 +3./3 =3./5 -2./5
=5/3 =/5

@ V18 + /8 @ J48 - 75
=3/2 +2/2 =4./3 -5/3
=52 =-3

® V18 + 50 ® J54 + /24
=3/2 +5/2 =3./6 +2./6
=8./2 =56

@ J48 - 12 J28 - /63
=4./3 -2./3 =27 =37
-2[3 -7

@ J75 - 12 J8 +J32
=5/3 -2/3 =2./2 +4./2
=3./3 =62

< F H>

3% #H

@ V40 + /90 @ V48 + 75
=2./10 +3./10 =4./3 +5/3
=510 =9./3

@ J45 + /20 @ 54 - 24
=3./5 +2./5 =3./6 -2./6
=5/5 =6

® Jiz - J27 ® V50 - /8
=2/3 -3./3 =52 -2./2
=—/3 =32

@ J28 + /63 J27 - J75
=27 +3.J7 =3/3 -5./3
=57 -2/3

@ J18 - /8 J75 + /12
=3/2 -2/2 =5/3 +2./3
=2 -7./3

< # A B>




